



Original Article

Prevalence and Predictors of Depression and Anxiety among Women Using Hormonal and Non-Hormonal Contraceptives: A Comparative Cross-Sectional Study

Mohi Ud Din¹, Muhammad Umar², Alia Liaquat³, Nadia Zulfiqar⁴, Binash Irfan⁵ and Laiba Ali⁵¹Department of Community Medicine, Aziz Fatima Medical and Dental College, Faisalabad, Pakistan²Department of Obstetrics and Gynecology, James Paget University Hospital, United Kingdom³Department of Obstetrics and Gynecology, Allied Hospital, Faisalabad, Pakistan⁴Department of Obstetrics and Gynecology, Aziz Fatima Medical and Dental College, Faisalabad, Pakistan⁵Aziz Fatima Medical and Dental College, Faisalabad, Pakistan

ARTICLE INFO

Keywords:

Association, Hormonal Contraceptives, Non-Hormonal Contraceptives, Depression, Anxiety

How to Cite:

Din, M. U., Umar, M., Liaquat, A., Zulfiqar, N., Irfan, B., & Ali, L. (2026). Prevalence and Predictors of Depression and Anxiety among Women Using Hormonal and Non-Hormonal Contraceptives: A Comparative Cross-Sectional Study: Depression and Anxiety among Women Using Hormonal and Non-Hormonal Contraceptives. *Pakistan Journal of Health Sciences*, 7(9), 34-41. <https://doi.org/10.54393/pjhs.v7i9.3658>

*Corresponding Author:

Mohi Ud Din

Department of Community Medicine, Aziz Fatima Medical and Dental College, Faisalabad, Pakistan
dr.md89@outlook.comReceived Date: 6th December, 20251st Revision Received: 28th February, 2026Acceptance Date: 7th May, 2026Published Date: 30th September, 2026

ABSTRACT

There is still debate over the psychological effects of hormonal contraceptives, and there is little data from low-resource countries like Pakistan. **Objectives:** To assess the prevalence and predictors of depression and anxiety among women using hormonal and non-hormonal contraceptives. **Methods:** A comparative cross-sectional study was carried out at the Department of Obstetrics and Gynecology, Aziz Fatimah Hospital, Faisalabad, from May to September 2025. A total of 376 women were recruited through non-probability consecutive sampling. Data were collected using a pre-developed questionnaire, which included sociodemographic characteristics, obstetric history, and the PHQ-9 and GAD-7 scales. Associations were examined by chi-square tests, and multiple logistic regression was applied to identify independent predictors. **Results:** The rates of clinically significant depression and anxiety were found to be 68.1% and 70.7%, respectively. Both conditions were strongly linked to contraceptive method ($p < 0.001$), with combined oral contraceptive users presenting the highest rates (83.0% for both) and implant users the lowest (27.7% and 21.7%). Regression analysis showed that being employed was a protective factor for depression (AOR = 0.50). After controlling for sociodemographic variables, hormonal contraceptives were not an independent predictor of depression; nevertheless, the best predictor of anxiety (AOR = 2.92) was medical reasons for using contraceptives. **Conclusions:** Women using hormonal contraceptives, particularly combined oral and injectables, had increased rates of anxiety and depression. Following the adjustment, there was no independent correlation between the usage of contraceptives and depression. The most significant psychological risk factors were higher parity, unemployment, and medical reasons for using contraceptives.

INTRODUCTION

Contraception is an essential medical procedure for the maintenance of women's reproductive and sexual health since it allows the planning of pregnancies and, thus, the avoidance of unwanted conceptions [1]. Modern contraceptive methods are being used by around 851 million women globally, and the number is projected to grow as the availability of reproductive health services expands [2]. Even though contraception is widely used, the

psychological effects of different methods, notably the hormonal types, are still a matter of debate. One of the main causes of disability worldwide is depression, and it affects women almost twice as much as men, which is partly the result of biological and hormonal factors [3]. Among the hormonal contraceptives, it may have an impact on the neurotransmitter serotonin, which is responsible for mood and emotional stability, as a result of the changes in the



estrogen and progesterone levels [4]. Although certain studies have connected the use of hormonal contraceptives with the development of depressive symptoms, others have determined there to be no correlation [5]. Thus, this changeability keeps on being a problem for doctors who prescribe contraceptives, and it also adds to the confusion among the patients. Mood disturbances, including depression and mood lability, are among the most common reasons cited for discontinuing hormonal contraceptives, with studies reporting that up to 33.9% of women attribute their discontinuation to mood-related side effects [6]. Mood disturbances related to the application of hormonal contraceptives are also among the most common reasons for their discontinuation [7]. Additionally, hormone use is sometimes accentuated by social and media influences, and this fear towards hormonal methods might eventually lead to their rejection or discontinuation even in cases where no side effects are reported [8]. In Pakistan, the contraceptive prevalence rate (CPR) among married women is roughly 34%, with 25% relying on modern methods [9]. The increasing utilization of hormonal contraceptive methods and the sociocultural context that could affect mental well-being and contraceptive selections make it necessary to investigate this relationship.

However, the mental health impact of different contraceptive methods in this population remains largely unexplored. This study aimed to find out the difference in the rates of clinically significant depression and anxiety among hormonal and non-hormonal contraceptive users, and to study their prevalence according to specific contraceptive methods (for example, combined oral contraceptives, injectables, implants). Also, to identify the independent sociodemographic and obstetric predictors of depression and anxiety among contraceptive users.

METHODS

A comparative cross-sectional study was undertaken at the Department of Obstetrics and Gynecology, Aziz Fatimah Hospital, Faisalabad, which is a tertiary care teaching hospital in Faisalabad, Pakistan. Data collection was performed from May to September 2025. The Institutional Ethics Committee of Aziz Fatimah Hospital approved the study with the Ref. No: IEC/387-25 dated 6th May 2025. The study was first introduced, its procedures explained, and then the potential risks and benefits disclosed to each one who was a potential participant. Each patient who showed interest in participating was given a written informed consent form to fill in. To maintain confidentiality, all the data obtained was assigned numbers to represent the individuals, and they were then securely stored. This cross-sectional design was employed to assess the prevalence and associations between

contraceptive use and mental health symptoms, but it cannot establish causality due to the inability to determine temporal relationships between exposure and outcome. The sample size was calculated using the two-proportion formula for comparative studies to detect a clinically meaningful difference in depression prevalence between hormonal and non-hormonal contraceptive users, with 80% power and 95% confidence level. [10]. The result was a minimum sample size of 376 participants required in total. This sample was then split into two equal parts: one part of 188 women utilizing hormonal contraceptives, and the other 188 women employing non-hormonal methods. The hormone contraceptive users were divided into specific groups based on their chosen contraceptive methods, which included combined oral contraceptives (n=53), injectables (n=39), subcutaneous implants (n=83), intrauterine devices (n=8), and vaginal rings (n=5). Although these methods were categorized separately for descriptive analysis, they were combined into a single hormonal group for the primary regression analysis due to the limited sample size within individual method categories. The study assessed the prevalence of clinically important depression and anxiety disorders across these individual categories, while it primarily compared hormonal treatments to non-hormonal treatments. A consecutive sampling approach was employed to enroll all eligible women attending the gynecology outpatient clinic of a single tertiary care hospital, which may limit generalizability to the broader population. Women aged between 18 and 45 years who were using hormonal or non-hormonal contraceptives and came to the gynecology outpatient clinic were invited to take part in the study. The exclusion criteria were pregnant or nursing mothers and those with diagnosed psychiatric disorders before the study. Women with pre-existing psychiatric conditions were excluded based on verification through medical record review and self-reported history of diagnosed psychiatric disorders on a structured intake questionnaire. The study did not collect data on participants' history of depression or anxiety prior to contraceptive initiation, which represents a critical unmeasured confounder in the analysis. Recruitment of participants exclusively from gynecology outpatient clinics may introduce selection bias, as these women may already have concerns about their contraceptive methods or underlying gynecological conditions that could influence their mental health symptoms. Hormonal contraceptive techniques were classified into combined oral contraceptives, injections, subdermal implants, hormonal intrauterine devices (IUDs), transdermal patches, and vaginal rings. Copper IUDs, spermicidal agents, cervical caps, and surgical sterilization (tubal ligation) were included in the non-hormonal methods category. A pre-

designed, structured, and previously tested questionnaire was the main data collection tool [11]. The Patient Health Questionnaire-9 (PHQ-9) was used to assess depression. The PHQ-9 is a widely validated instrument that scores each of the nine DSM-IV criteria for depression on a scale from 0 (not at all) to 3 (nearly every day), providing a total score ranging from 0 to 27. Based on established cut-offs, scores were categorized as follows: 0-4 (minimal depression), 5-9 (mild depression), 10-14 (moderate depression), 15-19 (moderately severe depression), and 20-27 (severe depression). A cut-off score of ≥ 10 was used to indicate clinically significant depression, as this threshold has demonstrated optimal sensitivity (88%) and specificity (88%) for detecting major depressive disorder [12]. The Urdu version of the PHQ-9 has been validated across multiple Pakistani populations with excellent psychometric properties (Cronbach's alpha = 0.83-0.91), including community-based pregnant women and adolescent populations [13]. The Generalized Anxiety Disorder-7 (GAD-7) scale was used to assess anxiety symptoms. The GAD-7 consists of seven items, each scored from 0 (not at all) to 3 (nearly every day), with total scores ranging from 0 to 21. Scores were categorized as: 0-4 (minimal anxiety), 5-9 (mild anxiety), 10-14 (moderate anxiety), and 15-21 (severe anxiety). A cut-off score of ≥ 10 was used to indicate clinically significant anxiety, as this threshold provides optimal sensitivity (89%) and specificity (82%) for detecting generalized anxiety disorder [14]. The Urdu version of the GAD-7 has been validated in Pakistan, demonstrating excellent reliability (Cronbach's alpha = 0.92) and good convergent validity [15]. The questionnaire was administered through face-to-face interviews by the trained data collectors to ensure that the tool was accessible even to people with low levels of education. However, this method may introduce social desirability bias, particularly when responding to sensitive questions about mental health symptoms. The questionnaire had a total of four sections: sociodemographic information, obstetric and gynecological history, the PHQ-9, and the GAD-7 scale.

The data were performed by IBM SPSS Statistics Version 25.0. Frequencies and percentages were used to summarize categorical variables. The Chi-square test was used to evaluate the relationship between the type of contraceptive method and the occurrence of depression and anxiety. Subsequently, two independent multiple logistic regression analyses were done to find out the predictors of clinically significant depression (PHQ-9 ≥ 10) and anxiety (GAD-7 ≥ 10) separately. In the regression analysis, the 'type of contraceptive' variable, that is, the primary exposure variable, was treated as a binary variable (non-hormonal = 0, Hormonal = 1). The regression results

are given as Adjusted Odds Ratios (AORs) with 95% Confidence Intervals (CIs). A p-value of less than 0.05 was used as a threshold for statistical significance in all analyses.

RESULTS

This research involved a total of 376 women, with 188 (50.0%) using hormonal contraceptives and the other half non-hormonal. The women were mostly aged 31-35 years (35.9%), living in urban areas (66.0%), and were married (95.7%). A large number were unemployed (66.8%) and had three or more children (48.7%). The characteristics of the participants, both sociodemographic and obstetric, are given in table 1.

Table 1: Sociodemographic and Obstetric Characteristics of Participants (n=376)

Variables	Category	n (%)
Age (years)	18-25	39 (10.4%)
	26-30	97 (25.8%)
	31-35	135 (35.9%)
	>35	105 (27.9%)
Residence	Urban	248 (66.0%)
	Rural	128 (34.0%)
Marital Status	Married	360 (95.7%)
	Unmarried / Separated / Widowed	16 (4.3%)
Education	Illiterate	52 (13.8%)
	Primary	35 (9.3%)
	Secondary	80 (21.3%)
	Higher secondary	109 (29.0%)
	Graduation or above	100 (26.6%)
Employment Status	Employed	125 (33.2%)
	Unemployed	251 (66.8%)
Monthly Income	Low	65 (17.3%)
	Middle	268 (71.3%)
	High	43 (11.4%)
Number of Children	None or 1	84 (22.3%)
	2	109 (29.0%)
	≥ 3	183 (48.7%)
History of Abortion	Yes	165 (43.9%)
	No	211 (56.1%)
Type of Contraceptive Used	Non-hormonal	188 (50.0%)
	Hormonal (Total)	188 (50.0%)
Hormonal Methods	Subcutaneous Implant	83 (44.1%)
	Combined Oral Contraceptives	53 (28.2%)
	Injectables	39 (20.7%)
	Others	13 (6.9%)

Based on the GAD-7 scores, the majority of participants had mild anxiety (171, 45.5%), followed by minimal anxiety (110, 29.3%) and moderate anxiety (86, 22.9%). According to the PHQ-9, mild depression was most common (153, 40.7%), while 120 women (31.9%) had minimal depressive symptoms. Using a cut-off score of ≥ 10 to indicate clinically

significant symptoms, 256 (68.1%) for depression, and 266 women (70.7%) screened positive for anxiety. The observed prevalence of clinically significant depression (68.1%) and anxiety (70.7%) is substantially higher than general population estimates, which may reflect the hospital-based sampling approach, the use of a cut-off score of ≥ 10 that may not be optimally calibrated for this population, or a true elevated burden of mental health symptoms among contraceptive users in this setting. The prevalence of both depression and anxiety differed

significantly across specific contraceptive methods ($p < 0.001$ for both). The highest rates were among users of combined oral contraceptives (Depression: 83.0%; Anxiety: 83.0%) and injectables (Depression: 82.1%; Anxiety: 84.6%). On the other hand, users of subcutaneous implants had the lowest rates (Depression: 27.7%; Anxiety: 21.7%). Moreover, a huge number of women using non-hormonal methods also tested positive for depression (79.8%) and anxiety (85.6%), as shown in table 2.

Table 2: Association between Contraceptive Method and Depression (PHQ-9 ≥ 10) and Anxiety (GAD-7 ≥ 10) among Study Participants (n=376)

Contraceptive Methods	Total, n	Depression, n (Group Prevalence %)	No Depression, n (Group Prevalence %)	p-value	Anxiety, n (Group Prevalence %)	No Anxiety, n (Group Prevalence %)	p-value
Non-Hormonal Methods	188	150 (79.8%)	38 (20.2%)	<0.001	161 (85.6%)	27 (14.4%)	<0.001
Hormonal Methods	188	106 (56.4%)	82 (43.6%)		105 (55.9%)	83 (44.1%)	
Combined Oral Contraceptives	53	44 (83.0%)	9 (17.0%)		44 (83.0%)	9 (17.0%)	
Injectables	39	32 (82.1%)	7 (17.9%)		33 (84.6%)	6 (15.4%)	
Subcutaneous Implants	83	23 (27.7%)	60 (72.3%)		18 (21.7%)	65 (78.3%)	
Intrauterine Devices	8	5 (62.5%)	3 (37.5%)		7 (87.5%)	1 (12.5%)	
Vaginal Rings	5	2 (40.0%)	3 (60.0%)		3 (60.0%)	2 (40.0%)	
Overall Total	376	256 (68.1%)	120 (31.9%)		266 (70.7%)	110 (29.3%)	

Notably, the non-hormonal group paradoxically showed higher crude rates of depression (79.8%) and anxiety (85.6%) compared to the hormonal group (56.4% and 55.9%), suggesting that the unadjusted association is confounded by sociodemographic and obstetric factors.

A multiple logistic regression was performed to identify independent predictors of clinically significant depression (PHQ-9 ≥ 10), adjusting for all variables in table 1. The model identified two significant independent predictors. Employment status was a protective factor, with employed women having 50% lower odds of depression compared to unemployed women (AOR = 0.50, 95% CI [0.35, 0.72], $p < 0.001$). Conversely, the number of children was a risk factor, with each additional child associated with a 56% increase in the odds of depression (AOR = 1.56, 95% CI [1.14, 2.13], $p = 0.050$). The type of contraceptive (hormonal vs. non-hormonal) was not a statistically significant independent predictor after adjustment for confounders (AOR = 1.19, 95% CI [0.99, 1.42], $p = 0.062$). Hormonal contraceptive use did not show any significant impact on depression after researchers controlled for both employment status and number of children. It indicates that people who use hormonal methods show higher rates of depression because sociodemographic factors explain their condition rather than hormonal exposure itself, as shown in table 3.

Table 3: Multiple Logistic Regression Analysis of Factors Associated with Depression (PHQ-9 ≥ 10) among Women Using Contraception (n=376)

Factors	Adjusted Odds Ratio (AOR)	95% Confidence Interval	p-value
Sociodemographic Factors			
Age (Per Category Increase)	1.05	0.80 - 1.38	0.742
Educational Status (Per Category Increase)	0.80	0.64 - 1.01	0.062
Marital Status (Ref: Married)	5.23	0.41 - 66.70	0.203
Residence (Ref: Urban)	1.04	0.59 - 1.86	0.884
Monthly Income (Per Category Increase)	1.61	0.91 - 2.86	0.105
Occupational Status			
Unemployed	0.50	0.35 - 0.72	<0.001*
Contraceptive-Related Factors			
Type of Contraceptive (Ref: Non-hormonal)	1.19	0.99 - 1.42	0.062
Number of Children			
Ref: Per Child	1.56	1.14 - 2.13	0.005*

Others			
History of Abortion (Ref: No)	0.79	0.54 - 1.15	0.216
Time Since Delivery (Per Category Increase)	0.62	0.30 - 1.29	0.200
Reason for Use (Ref: Contraception Only)	1.54	0.93 - 2.56	0.096
Duration of Use (Per Category Increase)	0.88	0.65 - 1.21	0.441

A separate multiple logistic regression for anxiety (GAD-7 ≥ 10) identified three independent predictors. Using hormonal contraceptives was associated with a 37% increase in the odds of anxiety compared to using non-hormonal methods (AOR = 1.37, 95% CI [1.13, 1.64], $p = 0.001$). Each additional child increased the odds of anxiety by 57% (AOR = 1.57, 95% CI [1.14, 2.17], $p = 0.006$). The most substantial predictor was the reason for contraceptive use; using contraceptives for reasons other than pure contraception (e.g., menstrual disorders, PCOS) was associated with nearly three times higher odds of anxiety (AOR = 2.92, 95% CI [1.45, 5.91], $p = 0.003$), as shown in table 4.

Table 4: Multivariable Logistic Regression Analysis of Factors Associated with Anxiety Symptoms (GAD-7 ≥ 10) among Women Using Contraception (n=376)

Factors	Adjusted Odds Ratio (AOR)	95% Confidence Interval	p-value
Sociodemographic Factors			
Age (Per Category Increase)	0.99	0.74 – 1.32	0.947
Educational Status (Per Category Increase)	0.93	0.74 – 1.18	0.561
Marital Status (Ref: Married)	0.42	0.04 – 4.33	0.466
Residence (Ref: Urban)	1.60	0.87 – 2.94	0.130
Monthly Income (Per Category Increase)	1.20	0.66 – 2.16	0.554
Occupational Status (Ref: Unemployed)	0.73	0.50 – 1.07	0.105
Contraceptive-Related Factors			
Type of Contraceptive (Ref: Non-hormonal)	1.37	1.13 – 1.64	0.001*
Number of Children (Per Child)	1.57	1.14 – 2.17	0.006*
History of Abortion (Ref: No)	0.78	0.52 – 1.16	0.221
Time Since Last Delivery (Per Category Increase)	0.48	0.21 – 1.11	0.086
Reason for Use (Ref: Contraception Only)	2.92	1.45 – 5.91	0.003*
Duration of Contraceptive Use (Per Category Increase)	0.78	0.56 – 1.08	0.139

Note: Ref = Reference category. AOR = Adjusted Odds Ratio

DISCUSSION

The current research adds to the changing evidence on the connection between contraceptive use and psychological well-being by measuring depression and anxiety in women utilizing different methods, i.e., hormonal and non-hormonal methods. The results correspond to a larger research base that supports the claims about hormonal contraceptive (HC) use affecting mood symptoms. A cohort study reported that initiation of hormonal contraception (HC) in the postpartum period was associated with an increased risk of depressive symptoms, with an adjusted hazard ratio of 1.49 (95% CI: 1.42–1.56) compared with non-use [16]. Method-specific differences seen in the current study concur with the findings that some methods—like hormonal IUDs, implants, and patches are associated with different mood-related risk profiles [17]. The paradoxical finding of higher depression and anxiety rates among non-hormonal users in crude analysis underscores the importance of multivariable adjustment, as hormonal contraceptive use was not an independent predictor of depression after controlling for confounders (AOR = 1.19, $p = 0.062$), indicating that the higher rates in non-hormonal users are likely explained by sociodemographic and obstetric factors rather than hormonal exposure itself. Data from the UK Biobank on a larger scale by Johansson *et al.* also point out that the use of oral contraceptives (OC) might slightly increase the risk of depression over a

lifetime, especially in the first two years after starting, with a hazard ratio of 1.71 (95% CI 1.55–1.88) during the initial two years of use. Though, these findings are from a population-based cohort in the UK and may not be directly generalizable to the Pakistani population due to differences in demographic, cultural, and healthcare contexts. [18]. However, the contrary was true when a larger family size was concerned; it was a strong predictor of both depression and anxiety, which is in agreement with Ethiopian research that reveals that the dual caregiving burden and lack of social support led to psychological distress among users of injectable hormonal contraception [19]. Thus, these findings advocate for the necessity of considering the social determinants as part of the reproductive health evaluations, especially in low-resource areas. The finding of high levels of depression and anxiety among non-hormonal contraceptive users in this study implies that psychological distress is not necessarily connected to hormonal exposure only. A scoping review by Luthuli *et al.* highlighted the complex, bidirectional relationship between mental health and contraceptive choices, with studies showing variable associations between mental health disorders and hormonal contraceptive use [20]. Such variability makes it clear that there is a very different contextual and cultural issue in how contraception relates to emotional well-being. Moreover, recent studies from the Middle East have corroborated this complexity. The study in Saudi Arabia by Khormi found that different contraceptive methods lead to different depression rates, which reached their highest levels among users of subdermal implants, injectables, and hormonal IUDs. The study showed that method-specific counseling needs to continue because different contraceptive methods produce different outcomes for users [21]. This finding contradicts our observation that implant users had the lowest depression rates (27.7%), which may be explained by differences in study populations, cultural contexts, duration of use, or the timing of mental health assessment relative to contraceptive initiation. The research, which examined sociocultural factors in Iran, found that contraceptive use patterns are affected by multiple sociocultural elements, while middle-aged Iranian women continue to use oral contraceptives because cultural norms permit them to access the medication without a prescription [22]. These results are consistent with the current study, where the contraceptive method and the period of use were found to have a significant correlation with anxiety symptoms. Moreover, new neuroendocrine studies are coming forth and shedding light on the hormonal mechanisms. The research conducted by Karaviti *et al.* used the Swedish Mom2B cohort to follow mood changes in women. The odds

ratios showed a range from 1.30 to 2.07 across different time points, pointing towards the women who were highly sensitive to hormonal fluctuations as the ones experiencing greater mood instability [23]. These results and those from worldwide studies presented above are mixed, but they argue that the relationship between contraception and mental health is complex, i.e., influenced by hormonal exposure, sociodemographic conditions, reproductive roles, past psychological weaknesses, and cultural expectations. These results point to the urgent need for context-specific advice, routine mental health checks along with family planning services, and longitudinal research involving multiple centers to more effectively evaluate causality across different contraceptive methods. Also, the study used a single population proportion formula for sample size determination instead of a two-group comparison formula, which resulted in reduced power to detect contraceptive group differences.

The use of a single population proportion formula instead of a two-group comparison formula for sample size calculation may have reduced the statistical power to detect significant between-group differences. The cross-sectional nature of this study precludes establishing a causal relationship between contraceptive use and depression/anxiety, as the temporal sequence of exposure and outcome could not be determined. The reliance on medical records and self-report for excluding pre-existing psychiatric conditions may have led to misclassification, as undiagnosed or unreported psychiatric disorders could not be ruled out. The use of face-to-face interviews may have led to social desirability bias, with participants potentially underreporting or overreporting mental health symptoms due to stigma or perceived judgment. The aggregation of diverse hormonal contraceptive methods with different hormonal formulations into a single group for primary analysis may have obscured method-specific differences in depression and anxiety risk. The absence of data on pre-existing depression or anxiety before contraceptive initiation is a major limitation, as it precludes controlling for this critical confounding factor in the association between contraceptive use and mental health outcomes. The recruitment of participants from gynecology outpatient clinics may have introduced selection bias, as women attending such clinics might already have method-related concerns or underlying reproductive health issues that could affect their psychological well-being. The high prevalence of depression (68.1%) and anxiety (70.7%) may reflect selection bias from hospital-based recruitment, potential overestimation due to an unvalidated cut-off of ≥ 10 in this population, and the cross-sectional design's inability to establish temporality, necessitating future

community-based studies with population-specific validation. Future comparative studies should employ appropriate sample size calculations based on expected between-group differences.

CONCLUSIONS

Women using hormonal contraceptives showed a high burden of depressive and anxiety symptoms, particularly those using combined oral and injectable methods. However, after adjusting for confounders, hormonal contraceptive use was not independently associated with depression. Employment status appears to be a protective factor, while having more children is associated with higher psychological risk. Using contraceptives for medical conditions like PCOS or menstrual abnormalities was the biggest risk factor for anxiety. The study results show that mental health screenings in family planning services need to assess socioeconomic factors together with existing health conditions instead of evaluating only birth control methods.

Authors' Contribution

Conceptualization: MU, AL, NZ

Methodology: MUD, MU, AL, NZ, BI, LA

Formal analysis: BI, LA

Writing and Drafting: MU, AL, NZ, BI, LA

Review and Editing: MUD, MU, AL, NZ, BI, LA

All authors approved the final manuscript and take responsibility for the integrity of the work

Conflict of Interest

All the authors declare no conflict of interest.

Source of Funding

The authors received no financial support for the research, authorship, and/or publication of this article.

REFERENCES

- [1] Drab A, Wdowiak K, Kanadys W, Malm M, Dolar-Szczasny J, Zieliński G et al. A Global Regional Comparison of the Risk of Breast Cancer in Woman Using Oral Contraceptives—Systematic Review and Meta-Analysis. *Cancers*. 2024 Dec; 16(23): 4044. doi: 10.3390/cancers16234044.
- [2] Thurley J, Buades-Rotger M, Serfling G, Howaldt T, Reisch N, Krämer UM. Reduced Threat Avoidance but Increased Stress-Induced Approach Bias in Women Taking Oral Contraceptives. *Psychoneuroendocrinology*. 2024 Sep; 167: 107111. doi: 10.1016/j.psyneuen.2024.107111.
- [3] Kraft MZ, Rojczyk P, Weiss T, Derntl B, Kikinis Z, Croy I et al. Symptoms of Mental Disorders and Oral Contraception Use: A Systematic Review and Meta-Analysis. *Frontiers in Neuroendocrinology*. 2024

- Jan; 72: 101111. doi: 10.1016/j.yfrne.2023.101111.
- [4] Gawronska J, Meads C, Smith L, Cao C, Wang N, Walker S. Association of Oral Contraceptive Pill Use and Depression among US Women. *Journal of Affective Disorders*. 2024 Jan; 344: 132-40. doi: 10.1016/j.jad.2023.10.041.
- [5] Martell S, Marini C, Kondas CA, Deutch AB. Psychological Side Effects of Hormonal Contraception: A Disconnect Between Patients and Providers. *Contraception And Reproductive Medicine*. 2023 Jan; 8(1): 9. doi: 10.1186/s40834-022-00204-w.
- [6] Lundin C, Wikman A, Lampa E, Bixo M, Gemzell-Danielsson K, Wikman P et al. There Is No Association Between Combined Oral Hormonal Contraceptives and Depression: A Swedish Register-Based Cohort Study. *An International Journal of Obstetrics and Gynaecology*. 2022 May; 129(6): 917-25. doi: 10.1111/1471-0528.17028.
- [7] Mu E and Kulkarni J. Hormonal Contraception and Mood Disorders. *Australian Prescriber*. 2022 Jun; 45(3): 75. doi: 10.18773/austprescr.2022.025
- [8] Yeh PT, Kautsar H, Kennedy CE, Gaffield ME. Values and Preferences for Contraception: A Global Systematic Review. *Contraception*. 2022 Jul; 111: 3-21. doi: 10.1016/j.contraception.2022.04.011.
- [9] Kumar R, Anwar M, Naeem N, Asim M, Kumari R, Pongpanich S. Effect of Health Education on Knowledge, Perception, and Intended Contraceptive Use for Family Planning among University Students in Pakistan. *Scientific Reports*. 2024 Nov; 14(1): 28474. doi: 10.1038/s41598-024-79550-5.
- [10] Alfaifi M, Najmi AH, Swadi KH, Almushtawi AA, Jaddoh SA. Prevalence of Contraceptive Use and Its Association with Depression among Women in the Jazan Province of Saudi Arabia. *Journal of Family Medicine and Primary Care*. 2021 Jul; 10(7): 2503. doi: 10.4103/jfmpc.jfmpc_1308_20.
- [11] Gallis JA, Maselko J, O'Donnell K, Song K, Saqib K, Turner EL et al. Criterion-Related Validity and Reliability of the Urdu Version of the Patient Health Questionnaire in a Sample of Community-Based Pregnant Women in Pakistan. *PeerJ*. 2018 Jul; 6: e5185. doi: 10.7717/peerj.5185.
- [12] Kroenke K, Spitzer RL, Williams JB. The PHQ-9: Validity of a Brief Depression Severity Measure. *Journal of General Internal Medicine*. 2001 Sep; 16(9): 606-13. doi: 10.1046/j.1525-1497.2001.016009606.x.
- [13] Gallis JA, Maselko J, O'Donnell K, Song K, Saqib K, Turner EL et al. Criterion-Related Validity and Reliability of the Urdu Version of the Patient Health Questionnaire in a Sample of Community-Based Pregnant Women in Pakistan. *PeerJ*. 2018 Jul; 6: e5185. doi: 10.7717/peerj.5185.
- [14] Spitzer RL, Kroenke K, Williams JB, Löwe B. A Brief Measure for Assessing Generalized Anxiety Disorder: The GAD-7. *Archives of Internal Medicine*. 2006 May; 166(10): 1092-7. doi: 10.1001/archinte.166.10.1092.
- [15] Lundin C, Wikman A, Lampa E, Bixo M, Gemzell-Danielsson K, Wikman P et al. There is No Association Between Combined Oral Hormonal Contraceptives and Depression: A Swedish Register-Based Cohort Study. *An International Journal of Obstetrics and Gynaecology*. 2022 May; 129(6): 917-25. doi: 10.1111/1471-0528.17028
- [16] Larsen SV, Ozenne B, Mikkelsen AP, Liu X, Bang Madsen K, Munk-Olsen T et al. Postpartum Hormonal Contraceptive Use and Risk of Depression. *Journal of the American Medical Association Network Open*. 2025 Mar; 8(3): e252474. doi: 10.1001/jamanetworkopen.2025.2474.
- [17] Jahanfar S, Mortazavi J, Lapidow A, Cu C, Al Abosy J, Morris K et al. Assessing the Impact of Contraceptive Use on Mental Health Among Women of Reproductive Age—A Systematic Review. *BioMed Central Pregnancy and Childbirth*. 2024 May; 24(1): 396. doi: 10.1186/s12884-024-06587-9.
- [18] Johansson T, Larsen SV, Bui M, Ek WE, Karlsson T, Johansson Å. Population-Based Cohort Study of Oral Contraceptive Use and Risk of Depression. *Epidemiology and Psychiatric Sciences*. 2023 Jan; 32: e39. doi: 10.1017/S2045796023000525.
- [19] Nigate GK, Habitu YA, Tassew WC, Ferede YA, Fentie EA. Contraceptive Utilization and Associated Factors Among Reproductive Age Women Attending Psychiatric Outpatient Services, at Northwest Amhara Regional Referral Hospitals, Ethiopia. *American Journal of Obstetrics and Gynecology Global Reports*. 2025 Jul: 100530. doi: 10.1016/j.xagr.2025.100530.
- [20] Luthuli MQ, Nkala-Dlamini B, Nzuza-Moroe N. Influence of Mental Health Conditions and Symptoms on Contraceptive Use Among Adolescent Girls and Young Women: A Scoping Review. *Frontiers in Reproductive Health*. 2025 Sep; 7: 1620736. doi: 10.3389/frph.2025.1620736.
- [21] Khormi A. Prevalence of Depression among Women Using Hormonal Contraceptives: Insights from a Hospital-Based Cross-Sectional Study. *International Journal*. 2025; 14: 55-65. doi: 10.6000/1929-6029.2025.14.06.
- [22] Shah AM, Lee K, Nisa Mir J. Exploring Readiness for Birth Control in Improving Women Health Status: Factors Influencing the Adoption of Modern

Contraceptive Methods for Family Planning Practices. *International Journal of Environmental Research and Public Health*. 2021 Nov; 18(22): 11892. doi: 10.3390/ijerph182211892.

- [23] Karaviti E, Wierenga H, Geusens F, Gyllenberg F, Papadopoulos FC, Skalkidou A. Can Reporting Mood Swings During Oral Contraceptive Use Predict Peripartum Depression? Results from the Swedish Longitudinal Cohort Study Mom2B. *European Psychiatry*. 2026 Jan; 69(1): e4. doi: 10.1192/j.eurpsy.2025.10135.